Langenmalie umrechnen

Langenmal
Millimeter

Zentimeter

Dezimeter

Dekameter

Hektometer

Abkilirzung
mm

cm

dm

dam

hm

Umrechnung in:
Imm=1mm
1mm=0,1cm

1 mm=0,01dm

1 mm=0,001 m

1 mm =0,0001 dm
1 mm = 0,00001 hm
1 mm = 0,000001 km
lcm=10 mm
lcm=1cm
1cm=0,1dm
1cm=0,01m

1 cm =0,001 dam
1cm =0,0001 hm
1 cm =0,00001 km
1dm =100 mm
1dm=10cm
l1dm=1dm
1dm=0,1m

1dm =0,01 dam
1dm =0,001 hm
1dm =0,0001 km
1 m=1000 mm

1 m=100cm
I1m=10dm
Im=1m

1 m=0,1dam

1 m=0,01 hm

1 m=0,001 km

1 dam = 10000 mm
1 dam = 1000 cm

1 dam =100 dm
ldam=10m

1 dam =1 dam
1dam =0,1 hm

1 dam = 0,01 km

1 hm = 100000 mm
1 hm = 10000 cm
1 hm = 1000 dm
1hm =100 m

1 hm = 10 dam
lhm=1hm
1hm=0,1km
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